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1. DNA ¥ it % fer2 Tomit 2 9 2 (A) e §2 (nucleus) (B)E %48 (chloroplast) (C) #-

10.

11.

A48 (mitochondria) (D) ™+ % 5 ¥ (E) m b %2t

MR e B AR wie chgr s 2 (A) phragmoplast (B) preprophase band (PPB)
(C) microtubule-organizing center (MTOC) (D) centrosome * 48 (E) tw?z 4= cell plate

B et e el g3 (Mitotic spindle) &4 T e fd i 28 (cytoskeleton) =7
(A) Microtubule #z- ¢ (B)actin g3k (C) intermediate filament ¢ & %%

e 3 fm#e chid 45k (contractile ring ) ¢ 4~ 2 & (cleavage furrow) £d 127 @ fEle e F
(cytoskeleton) = ? (A) Microtubule #z ] & (B)actin #&s:  (C) intermediate filament

Mitosis 7 Si4 2 # 3 4 T pri (stage) PEEp o A4 MRS hmie end R F D
(A) interphase ¥ #f (B) prophase =¢ #p (C) metaphase ¢ & (D) anaphase i #p (E) telophase
* 3y

Mitosis 7 s&4 Z ¢ > & pEHp > ¥ ook (centrosome) & A 0 % d 2 HEA B R e
1&? (A) interphase f& #7 (B) prophase = #p (C) metaphase # #; (D) anaphase s 7
(E) telophase % #f

FSAAT & pEdp > 13 44 k8 € 217 DNA  replication (4F %)?
(A) interphase & #7 (B) prophase = #p (C) metaphase * #; (D) anaphase {s #F
(E) telophase * #f

Mitosis 7 &4 2 <hrprophase (% #7) - € 3 » T URE EED?  (A) A4 WIkNE (B) s
2 (C) 48825 (D) ¢ ¥ centrosome v @ &4 8 (E) ™ F ¢ % (F) m 2+ %2t

SRR Mg ARG XAk 2EE WA (A) FBARE I 1 homologous
chromosome (B) 4e4% 4 ¢ 4~ 44 sister chromatid (C) % ¢ %8 = karyotype

F¥#cs B meiosis ¢, iR ¢ %8 homologous chromosomes ¢ ERIRAR: 4
(A) 75 #p anaphase | (B) {4 #p anaphase Il (C) % #p telophasel (D) % # telophase Il

A B meiosis bR ¢ #- Ir /% ¢ 48 (homologous chromosomes) #* i
— A% > F LT 3 4 (8% (Cross over)pE Hp A Bt (A) = ¢ €% Synapsis (B) £ & it#
recombination  (C) #§ ® i¥* replication
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12. &

13.

14.

15.

16.

17.

18.

19. B

20.

21.

22.

G (Mendel ) e 3234 » (A) % 1900 # 3% &1 (B) 45 3| & chg» = & (factor ) >
Tt 5 A% (gene) (C) i 3 & t: (dominant) 2 *Z{+ (recessive) il B340
FVE HF e

‘\1

e

TR TR G- Hof Roent =4 (Epistasis) #7853 o F ot k] ? (A) 15:1(B)
3:1(C) 13:3 (D) 1:1

AB 4] RFedpeficit 5 (A) codominance £ &4 (B) complete dominance % > &1+ (C)
equal dominance = % 1+ (D) overdominance & &g {4 (E) multiple alleles % 2 %13 ¥

AB = A £ O Flend A2 FF e #2158 5 (A) codominance + %14+ (B) complete
dominance % > %1+ (C) equal dominance I %g |+ (D) overdominance i &z 1+ (E) multiple
alleles % 2 7|3 &=

145% (sex linkage ) i i@ (A) =3 43tz (B) mg 4 3vepts (C) g P - &) (D)
FAAPEEY - b (B) & A A - by

"E 1A F] s o @ (sex linkage) hi 1273 "¢ 42 (A)I 2 reciprocal cross & % % 2 %
F(B)T LA el aE R 5 A (C) 5 AMEEA D)ARTLEBBDT (B)
M- 2 R Eas

T Rt I ? (A) F AHT XY %4 Mkl (B) it ch XX %4 M
-—fll/ijg}g‘l <:r‘,b’—u,,.j\g—5~ (C) “ﬁ‘)arﬂ‘ﬁf——)-’FK{E,E)a—I’—rx ‘—‘I'+Y—)1LE?’§¥' (D)XY
%4 Mg @A 24 F4F (Mendel) 3 2

B <& (Down Syndrome) =% # K F]”# "E_F 5 (A) % ¢ 483 4 ¥t Nondisjuction (B)
2L & 2 48 aneuploidy (C) 2% % point mutation (D) # i ¥ * transposition

F. Griffith % 1928 & 41 * Streptococcus pneumoniae “# I transformation & it it * > ”
3@ d (AR EDNA LS B4 [ hE &3gag (B) P DNA L @ et (C)45
7 transformation material #& i 4=

% 1952 # - AD Hershey ™ % Martha Chase 1§ % % » 78— flciti 4= 5 (isotope
labeling) ¢ &~ wm@F#pr 2 (A)°H B)™C (C©)%P (D)*s

127 5 B DNA 03 R i 5 257 (A) Watson 2 Crick F]4% &1 DNA double helix structure
m 2% L i 2 (B) DNA E_deoxy ribonucleic acid (2 % +:#&+% &) (C) Watson %2 Crick
1963 # 3% 1 DNA double helix structure 323 (D) Rosalind Franklin 4] * x-ray diffraction
(¥e54) =) DNA 035k
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23. GeorgeWBeadIe f- Edward L Tatum #% &) 1 (7 $] 2 b ﬁ(NobeI price) srIZ i 0 2. S AR 12
&+ Tz & ? (A) One-Gene-One-Enzyme - é"]#’# - f% (B) One-Gene-One-Amino
Acid - & Fl#r 4] - =4t (C) One-Gene-One- Polypeptlde - A FFEH - Frkda

24uT¢M[mAmﬁw,ﬁgé#?(MATgﬂwﬁmmgﬂwﬁ(mArjww%’
GC = fppe¥t (C)U (uracil) = % s RNA P > B E L ¢ 1R %> 38 IR & DNA p

25.DNAAFHlPF » — 3 T SRR SR E TR P ERE L2
(A) helicase fz>zf=-> ligase & 4%p=-> polymerase ¥ & fi=—> topoisomerase  irf+
(B) topoisomerase £ 3z fi¥ > helicase f%*zfix > polymerase & & fix > ligase if i fis
(C) helicase j#* g+ -> polymerase ¥ & fi* > topoisomerase £ irf¥ > ligase i £ fis

26. DNA 4 @ pFr> T oRfafk % € iyl DNA 4L 03 4843 k= e 113740 DNA? (A)
helicase f2*zfi# (B) DNA polymerase % & fi# (C) RNA polymerase %‘u«ﬁ"(D) ligase
T E i

27. Replication (4F ® ) ez @ » i@ % & 2 7 (A) Helicase sniv % £ 4= %) 100 B 2 H i (B)
Nuclease (%3 Fafs ) chif* B M H ik bk + (C) Topoisomerase ei¥ * £ 45 &
i g (D) & A4 d -] #EAHRNA - primer (513)

28. DNA » &+ 4rir4g ® ??  (A) Semiconservative £ i% % (B) conservative % ¥
(C) dispersive 4 %t

29. n i " 27 ErE? (A) DNAAF #pF - 3 5% double strand 2375 5| 48 & 447 B (B)
& 4% (transcription) P& - 7 3% double strand £ 2 % 5 7| 3R & A &% (C) DNA 47 W p&
#7% DNA/DNA 2_ fF 5 3 4 (complementary ) 3 % (D) #4%pF > RNA/DNA 2. & ¢ =
4 (complementary )

30. 7 B# transcription (#4%) % translation (#:¥) > = 7@ ¥ ”ﬁx” ? (A) Ey24
(eukaryote ) #transcription ¥ A w5 27 (B) Z Jf’ij_}rnmtranslatlon Fofdm e T
¢ i2{7 (C) Ri:2 4 (prokaryote )i transcription 2 translation 4% & wn*e fiz 7 (D)
o)

3L.DNAFflp » #5172 ? (A) 4% * RNApolymerase % & s (B) R &5 it 7 § A5
DNA primer (C) DNA 4ache %58 d 5’end ¥] 3’end (D) Flz 34 17% » &+ Az
o gL EAERY T

32. ##4% (transcription) # #1Z% = polymerase fi¥% % ? (A) DNA polymerase (B) RNA
polymerase (C) Amino acid polymerase (D) Protein polymerase
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33. Repressor protein (FE @3 » Frd] d-v ) fdr4] 2 14 3 (gene expression) %L%gr} (A) »
2 mRNA> ¢ mRNA £ % # % & (B) #r4] DNA polymerase /&% (C) ik 4% polymerase
%% & cnDNA B 7= (D) # translation/transcription 7 3%

34. B+ 4 4 chfh Fi2 7 transcription (#4%) 0 I & L A3 mRNA 44 ¢ 5 A F4e
LR o4 (A) A T HF‘J?%; fis ke 2% (3 ponAtall) (B) 4c+ 5’y (5’cap) (C)
VF 4B B 7|(intron) » %% % i B 7|(exon)(%E B 7)) (D) 14 b w2

35. i 2 2 4~ (Prokaryote) it {7 4% (translation) "=z peps » P H Bt/ ? (A) %7 2548
'&%W£&®yﬁ3§6%ﬁﬁﬁﬁﬂ—%ﬁﬁﬁi@)ﬁ#%’%ﬁmmwxRNAi
rRNA

36. M MR Al ﬁt/i ( Sickle Cell Disease ) =4zit = &5?‘;5’—‘? (A) I -FR5 é’,_i
Z&_fj (gene) % % (mutation) @ i = 5 % (B) 35:-1( 53 A B end IR R o
(inflammation) ~ # = % (C) 4 % pleiotropy ( & %] % >zt ) - B4+4EH (D) #
# F1R % (mutation) 38E 3

37. @ & AR F& P Hig (central dogma) 2 (A) DNA->mMRNA->tRNA->protein
(B) DNA->RNA->protein  (C) RNA <-> DNA< - protein

38. T w7 ¢ i = frame-shift? (A)dk A P~ % base substitution 1%k % % (B)4* % deletion
(C)4& » insertion

39. #% 4= et w| i %_(sex determination) ki@ »T 2 & ;4 (A) 2 MEHKAT (B) &
45%1L*@)ﬁ F+ ki (D) # ko ki

40. Barr body (inactive X chromosome) i &3¢ = f&# 4 wmPz b (A) 2% i (B) v s (C)
=% (D) #

41. Morgan i B 4 3 5 + m?f}l?c P 527 (A) A1 0 L%k s 5% 2 (fly room) (B)
A FIM#nE = CM (centi-Morgan) L8 & & & (C) % - @ @F K FHF 0
(D) # % Hi kw2 A gl s e 3

42.DNA 3 4787 I+ 7 § # % bases, H#A4 i ATCG> H#E~ tfirt A HE?2 (84)

43. 7 N F A E Ew (Mendel’s principles) ® eh2 <« g a7 w7 LfL 0 TR A
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1. Sterilization
Allosteric inhibition
Compatible solutes
Ames test

The largest bacterium
Cytoplasmic streaming
Biofilms

SD sequence

L cell

Group translocation
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QPFF{T” [Hi% 55 FF aerobic respiration ~ fermentation % anaerobic respiration ? £l &
S =RV ASEY By (10%)
1. A= 51 pfig =t f{”ﬁﬁ%%i} ? (10%)
V. |ﬁ%‘ Inclusion body ? H A&~ £ { Vi 2 HEE organelle & 1T [ﬁj ? (10%)
V. Mt mutation fUFERE 2 (10% )
VL G558~ 3Ry~ PRI = Y A e (envelope) 7 (10%)
VII. #57% microbial recombination ? (10% )
VI At J%_‘J S‘IL’iEZEIf’J,%EET%B RNA vﬁzﬁ_ﬁ, T fﬁj; H [ﬁjﬁﬁ?ﬁ?%ﬂ‘[ﬁiﬁd ? (10%)

IX. AESLREE Pk R e 2 e Y (10%)




